MOTION

(_J ModTruss

Flush Mount Axle
Assembly

MT-MR-AX-FL-12-AS MT-MR-AX-FL-06-AS
Standard Material A36 Low Carbon Steel
Standard Finish 10 - Zinc Clear
Available Finish(es) 10-12 Zinc | 20-30 Powder Coated

Recommended Tools Tool Kit 1

Part # Description Size Weight  Hole Size Recommended Hardware
MT-MR-AX-FL-12-AS 10.75"x 10.75" x 2.38"  18.05lbs 11/16" 5/8"-11 Thread Grade 8 Bolt, 2.5" Long
12" Flush Axle Mount (273.05mm x (8.18kg) (17.46mm) 5/8" SAE Zinc-Plated Washer
Assembly 273.05mm x 60mm) 1"(25.40mm) 5/8"-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 64mm Long, Class 10.9
Bolt |[M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

MT-MR-AX-FL-06-AS* 5.25" x 5.38" x 1.28" 1.90lbs 11/16" 5/8"-11 Thread Grade 8 Bolt, 2" Long
6" Flush Axle Mount (133mmx137mmx  (0.863kg)  (17.46mm) 5/8" SAE Zinc-Plated Washer
Assembly 33mm) 5/8" 5/8"-11 Thread, Grade 8 Hex Nut

(15.87mm) (M16 x 2 Thread, 50mm Long, Class 10.9
Bolt | M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

X X°

In Stock Compatible Serialized & Made To
Traceable Order



o

(2 ModTruss

()

= T| < A N
LL
NOILOW =| o <|IT|F|= O
SY-XX-TAXV-IW-IN
INNOW FIXV
NOILdI¥DS3d
;_zozai 810z/01/6 . _dik.
wrzegrmeiang |- 9SNALPON @F v\
|'|
e N
O o o o+t
O jﬁ QO [0z'9/]
00°€
°f o
. 590z ] [02'9/]
. 50'€/7] [
£67E [ . .
ﬁwm._g - Q O i /ol S/ \JO T\ 00°€
[seeel] s \J [0z9/] N_ ] S
§T'S RN L 00¢ Eﬁ&
m%mmm& * O d
/O O O O\
| poes] [ ]
69°€ [€97L1]
889
[e59¢1]
= T geg T [s0'eLT]
s/ 0l
SV-90-14-XV-IW-IW SV-CL-14-XV-IW-IW
L H1IDON3IT 319VvSn 0100-0¥00 e L H1ION3IT 0100-0010 I
JF/1-C NId 3TXV ¥313IWVIA .8/S -9 120-XV-HS-MH-IW 379VSN .2/ 1-9 NId FIXY JFLAWVIA . L | -TE0-XV-HS-MH-IW
z LAVHS 'VIQ.8/£.8/S NId 43LL0D | e, IO0E900 z z LAVHS VIG NI 1-8/2 NId 830D | oee DR HA0 z
4 4TVH 3IXV INNOW HSNT4 .9 H-90-T4-XV-3IW-IW L 4 4TVH 3IXV INNOW HSN14 .2 H-C [-14-XV-3IW-IW L
ALO NOILdI¥DOS3a JIGWNN 13Vd "ON WALl ALO NOILdI¥OS3a JIGWNN 13Vd "ON WALl




